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Instructions/araer:

1. The question paper consists of both Multiple Choice Questions and subjective type questions. The
general questions are given in PART -1 which is of 40 marks and subject specific questions are given
in PART -2 of 60 marks, consisting of section-A of 40 marks (40 questions of 1 mark each), section-B

of 12 marks (3 questions of 4 marks each) and section-C of 8 marks (1 question of 8 marks ).
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2. In case of Multiple Choice Questions, each question is of 1 mark. There will be negative marking and
0.25 marks will be deducted for each wrong answer. ONLY ONE most appropriate answer for each

question from the given option (A,B,C,D) is to be encircled with Ball Pen against the question

number in the tabular form given on the next page. In case of more than one encircled answer, all the

marked answers will be ignored, and will be awarded zero marks for all such question/answers.
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Mobile Phones/Cellular Phones, Ear Phones, Laptop, Books, Notes and Electronics Watches with
facility of calculation, Calculators and Pagers or any other communication device, bags, etc. is strictly

prohibited inside the examination hall.
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PART -1
Multiple € hoice Questions (40 marks)

(Every correct answer: | mark, wrong an.wer: -0.25 marks, not attempted: 0 marks)
L. The objectives of the Wild Life (protection, Act 1972 is

A. To preserve the biodiversity

B. Protection and conseration of wild life

C. To maintain essential ecological and hife supporting, systzms
2. Ail the above

2. The first major environmental protection law promulgated in India was

Ailr Act

Water Act
Environmental Act
Motor vehicle Act

oowp

3. Methods used for softening water containing permanent hardness are

Lime soda process
Zevlite process
Reverse osmosis
All of the above

cCO®>

4. Which one is non luminous

A. Moon
B. sun
C. JEfan
. comet

5. In which one of the following sound travels fast

A. Solid
B Air
C. Water

1. Vacuum

6. Thinner particles responsible [or deteriorating the air-quality resulting in the damage of vital
body organs are referred as PM

A. 20
B. 10
c, 25
D. |
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1. 4= Sliael (weaton) yfafaas 1972 an 382 @
A. Sla Rfagar & @i & F [
B. SaTel Shast Y geam 3R aaror
C. yrawgs aiifeufas 3T shas gergs wonfadi 1 e @ & fav
D. 39dad waft

2, HIA # GEITd Ygell YW GATaqor Haror e our
A. UUT UFE

B. St 3fofags

C. gdaror yfaf@Eas

D. #Alex aga 3w

3. F il FSREl ardl ulell Y A S & AT 3udr fhe o are ades §
A. g wEr ufear

B. faanse ufsar

C. Ry WAy

D. 39T |t

4. @Yl W1 aHEER T8 &
A. diE

B. #&

C. ¥R

D. gHhd

5. sfafEa # & Ee afe e @ grar & &
A. B

B. gar

C. 3

D. faara

6. #gcaqul eI & A & AR T HROT gal &1 uigar &g & fAv SFEer gdd o1 PM &
w7 7 wefie g §

A. 20

B. 10

C. 25

D. 1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

7. Transboundary pollution (or) Acid rain is caused by:

A. Hydrocarbon

B. Carbon dioxide

C. Carbon monoxide

D. Nitrogen oxide and sulphur dioxide

8. ‘Kyoto Protocol’, an agreement signed by various countries, is associated with

Movement of hazardous waste

Deep 5ea Oil and Mineral Exploration

Clean Environment and Climate Change

Building common food stock to save human beings from iy natural disaster

oo®»>

9. Which of the following are the key features of ‘National Ganga River Basin Authority
(NGRBA)'?

I. River basin is the unit of planning and management.

2. It spearheads the river conservation efforts at the national level.

3. One of the Chief Ministers of the States through which the Ganga flows becomes the
Chairman of NGRBA or rotation basis.

Select the correct Answer using the code given below.

A. land 2 only
B. 2and 3 only
C. land3only
D 12and3

10. The heat of hyvdration of cement can be -educed by

reducing the proportions of C3 A

increasing the proportions of  C; Aand C3 S

increasing the fineness of cement

both (a) and (¢ )

where C: A and 3 S are tricalcium aluminate and tricalcium silicate respectively.

Sow>

11. A feature "Bluetooth” now common in mobile phones gets its name from a
A. Chinese 10" Century King
B. UK Software Company
C. Greek Goddess
D. Danish 10™ Century King
12. Which of the following is an insulator?
A. Mica
B. Steel
C. Galvanized steel
D. Cadmium Copper


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

7. ciaar3sl yewor (an) uids aifter s @ror g i
A. BTSSRI

3. Fleel SEIFAES

C. #Flds] AA3TFaEs

D. AEgla iawes 3R gewt S

8. 'FaVeY erhier, Affe 2 qany gEanaiRd v aAgitar 51 gam &

A. WalHTF 39RASE T e

B. 9@y AR O AR @faer ssavey

C. raew qaRor 3R Sierary aRade

D. foreh ot arssfaie 3naer & Aepsal &1 qae & v A @ey HsR & st

9. g i A A HURE (vachiamE) & vae ARvae sl dr @
1Ay I8 Arstar 3R vate 6 s &

2. g USET FAT O A HLATOT YA T Aced Ll B

3.0 & HeuAfIal # @ e [orEd ATSTA @ I 9§ qUR & HIUR O UTSlI3RET &1 3eae
el ST

AT QU A i FT 3TN T HE I & TaheT Sl

A. 1 3R 2 Fad

B. 2 3R 3 &ud

C. 1 3 3 FHad

D. 1,2 3R 3

10. P i grsse H et wa g wwd R

A Cy A & 3ITT ol SH HTa

3. CivA 3Gy S & 3eura A gefa

C. Wa¥e # gezar # gefa

D. glAT (A) 31T (C)

gl Cy A 3R Gy S A grgdfoeray teyfade 3R edFfowan fafase i
11, wiaigel ®la & 3@ ueh FreR soey” A ¢ e aw feararn §

A 10 dF Al & AR T

B. I HIFAAT FHely

C. fia &

D. 1047 aared) & afAer U=

12, §oTH & @leT AT U Frereldh 7
A. HIEH

B. ¥

C. Neldesss T

D. HafFaH HIT
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13.
14.
13,
16.
1.7
18.
19.

20.

Rainbow is formed due to:

A. Scattering and refraction

B. internal reflection and dispeysion
C. Reflection only

D. Diffraction and Reflection

Who among the following has not won an Oscar?
A. A.R.Rahman

B. Satyajit Ray

C. BhanuAthaiya

D. Dev Patel

The Sun Temple is located at

A. Bhubaneshwar

B. Mahablipuram

GET IT ON
Google Play

The Tropic of Cancer passes through the states of 1. Gujarat; 2. Jharkhand; 3. Assam; 4. Mizoram

C. Konark

D. Mathura

The gas used in artificial ripening of fruits is
A. Carbon dioxide

B. Acetylene

C. Ethane

D. Oxygen

A. 1,2and 4

B. land?2

C. 1,3and4

D. 1,2,3and 4

Out of the given alternatives, choose the one which best expresses the meaning of the word "Sultry™:

A. Unpleasant

B. ll-smelling

C. Impure

D. Hot and sticky’

Select the correct meaning of the word "seminary"

A. Chapel

B. College

C. Convocation hail

D. Hostel

Choose the option which is the antonym of the word "folly"
A. Wisdom

B. Antidote

C. Humility

D. Blame

6
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13. §R0Y & dds & PRUT B

A.
B.
C.
D.

14.

A,
B.

o

A,
3.
C.
D.

20. 98 f@Fed ?_,I,ﬁ Y "FOLLY" greg &r gdiaard) &

A.
.
Cs
B A

gehroler 3 3rgada

3T dgEder MR ora

qLradd hdel

fathearerst 3N SEds

frfaraa § ¥ fras 3Rt o Shar 82
U, EHA
dcgaita ¥

.mqamm

&g ued

g e R &

spﬁ‘ea?
HETEC A
VTR

. B0
el & HPH gy SRiEr A AR arch A E
. @I SEHTFAIEE

ufgfeesr

o

TS

1,2 3R 4
1 3 2

01,3 3T 4
.1,2,3 3R 4
18. v a0 fawedl 7 §, 98 T S SHE e & WY euFd FLT g
. 3o

. HHAR-AEH

. ey

.oy 3 fagfkr
19

"seminary" Usg &1 WEl HY el
Chapel

College

Convocation hail

Hostel

Wisdom
Antidote
Humility
Blame
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21. Choose the option which is the antonym of the word "commend"

A. Criticize
B. Comment
C. Forsake
D. Dexterity

22. In the following options, the word "break" is used in four different ways. Choose the option in which
the usage of the word is incorrect or inappropriate
A. After three hours of work, | am longing for a break.
B. My garment business has reached break-even.
C. She is still in a state of shock after the break-in.
D. Unable to face the pressure, Sarah had a break-up.

23. In the following options, the word "blow" is used in four different ways. Choose the option in which
the usage of the word is incorrect or inappropriate
A. The hijackers threatened to blow up the plane if the government failed to concede to their

demands. '

B. Losing both her parents in quick succession was an insufferable blow to her.
C. The storm seems to be quite fierce, but I'm sure it will blow off by tomorrow.
D. Itisimmodest to blow your own trumpet.

24. A train X leaves station 'A' at 3 p.m. and reaches station 'B' at 4:30 p.m., while another train Y leaves .
station 'B' at 3:00 p.m. and reaches station 'A’ at 4:00 p.m. These trains cross each other at:
A. 3:30 p.m. “ i
B. 3:20 p.m.
C. 3:40p.m.
D. 3:36 p.m.

25, There are two urns. One contains two white balls and four red balls, the other contains three white
and nine red balls. All balls are of the szme shape and size. From each urn, one ball is drawn. What is
the probability of getting both the balls of the same colour? '

A 1/24
B. 7/12
C. 1/12
D. 1/2

26. P, Q and R are three consecutive odd numbers in ascending order. If the value of three times P is 3
less than two times R, find the value of R

A. 5
B. 7
c. 9
D. 11
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21.a¢ fA%HeT ol S "commend"erse & qurErt ¥

A. Criticize

B. Comment

C. Forsake

D. Dexterity .
22. fovifafaa Rweut &, weg "Ya &1 ST AR 3eT-3reT Al & frar srar €1 @ ey Oe

S e &1 39T Aed A1 Hefad @
A &H & diet 6¢ arg, # te 96 & AT 3cgs gl
; B. AT gReme sqgdry Ha d zad gl
0 C. d&-3a ¥ arg ofr ag v fr feufa & 2
D. §RT F AF-3T §I;N AT, a1 gund wgN F IJ@AL |

23. rtatad RAsedt & e "3 AT TR 3EI-369T alel ¥ fhar Sirar 81 98 @wed get
TSt ereg &1 3G e A1 HefRAd @

A. 3R o R @Y 3R 1 A &, 3R FER AR A H TR wA A A @
"B, 3YeT ATA-RIAr @t @Y @, Sieg 8 3aUtiE &, 3EF AU v aaRaddy 32 (S )
S

C. I BT ST ooTaT &, Aifthet A2 =P & 6 98 &l aF 33 A9 |

D. UE 39 @ & & 33 & fAU AW ISl & :
24, wd T X TAUA A 03:00 PM X OVl § 30 4:30 PM 90 €224 B T Uga S B, Sl vh
3T 29 Y ®2eeT B 3:00 @t ©1s &ch ¥1 3R 4:00 PM WX ®U A dF GgE A ¥ A LoF wh-
Qﬁﬁﬁhm% !

A. 3:30 PM

B. 3:20 PM

C. 3:40 PM

D. 3:36 PM

25. 2 worer & U # & wthe I 3R AR e e @ ¥ gy 7 e wdhe 3 A el G @ E
el AE wa & I 3T T F F| ucdE e A, v dg @il Sl ) ue & w1 et dar H
qIed el @l THTEAT F4T 87 '

A. 1/24

7/12

€. 112

D. 1/2

26.  IRE & F p,0 IR R el RAvw dEare gowwr §) afe e aom P @ A 2 T R @ 3

FA g, dr R &1 A= 97

@

A. 5

o0Nw

11
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27. Pipe A can fill a tank in 10 hours, and Pipe B can fill the same tank in 12 hours. Botk the pipes are
opened to fill the tank. After 3 hours, Pipe A is closed. Pipe B will fill the remaining part of the tank in:

28,

24,

30.

A.

B.
C.
D

5 hours
4 hours
5 hours and 24 minutes
3 hours

In a certain class, 72% of the students prefer cold coffee, and 44% prefer fruit juice. If each of them
prefers cold coffee or fruit juice, and 48 students like botn, the total number of students in the class

is:

N0 mP

240
200
300
250

Avessel contains a mixture of milk and water in the ratio of 5:3 respectively. How much of the mixture
must be siphoned off and replaced with water so that the mixture may be half milk and half water.

5
i

o+
Ffw

A part of monthly hostel charges is fixed, and the remaining depends on the number of days one has’
taken food in the mess. When a student A takes food for 20 days, she has to pay Rs. 1000 as hostel
charges, whereas a student B, who takes food for 26 days, pays Rs. 1180 as hostel charges. Find the
fixed charges, and the cost of food per day.

A.

B.
o
D

400, 40
400, 30
300, 30
200, 20

10
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27. s A 10 "e F & 9T wehar &, 3t uisT B 3¢ &6 ) 12 g2 F HU HHaT ¥ S A HIA &
fow axat gy @ v §) 3 9 & arg, wET A @€ g 9By BEE & AW HET w9

A. 9Tg ©¢

B. O €¢

C. 5 u¢ 3R 24 fAwe

D. die g

28. U AT wem &, 72% o1 d31 FIR yhg w1 §, I 44% Gl F W 9He B ol I 3AA
& gcdeh 1 SST BB T Hell @ TH THG §, 3 48 ©HET F1 gkl qwe g, d Fwam F orl & F
G &
A. 240
B. 200

C. 300
D. 250

29. U aclel # FAW: 5:3 F Heard W qu 3R 9l 1 Faor §1 Faor @1 den e Wdrar smem
AT 3 9l F aqa Bar s anfge arfds Brsor smar g 3w snar uer 8
A 6>

6

3
B. 3:

sl

=
.
W

30, 71l gieed Yol &7 vah fewwm aa far amm §, 3 AW e Qe arel el f dear o
el ¥l S g O U 20 Rt aw S dar B, al 38 oTa & ®9 3 1000 S99 i AT

HAT USAT §, SafF v @iy A, & 26 AT & AU dee Aar ¥ 3X @rEEw & w9 A 1180 I &
HIlATT e 1 | fafReer e, 3 gfafea sierT & amerg are| -

A. 400, 40
B. 400, 30
C. 300, 30
D. 200, 20

11
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Directions (Questions 31-33): These questions are based on the following information:

« Sevenvillages A, B, C, D, E, Fand G are situated as follows:
e [is2 km to the west of B
¢ Fis2kmto the north of A
» Cis1km tothe west of A
e Dis2km to the south of G
= Gis2kmtotheeastof C
¢ Disexactly in the middle of B and E.
31. Aisin the middle of:

A. EandC
B. FandE
C. FandG
D. GandC
32. Which two villages are the farthest from one another?
A. DandC
B. FandE
C. FandB
D. GandE
33. How faris E from F (in km) as the crow flies?
A 4
B. V20
G 5
D. V26
34, In a certain code, ROUTINE is written as YMRGFLI. How will CRUELTY be written in that code language?
A. VOCVZRL
B. VPCVZRL
C. BGOVFIX
D. WPCVZRL

35. How many pairs of letters are there in the word ADVERTISE each of which has as many letters between
them in the word as they have in the English alphabet?

A. None
B. One
C. Two
D. Three
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fagnfader (qes 31-33): A g ot =TIl 9T 3meride g

arer e u, ), @, 9, 8, v 3 S AETeuR P §
Sl & ufdew 72 W &

U T & 3o A 2 TR B

v & qiRgH /1 AR

S o & gfgior # 2 el @

ST Er & qd A 2 R

& fegpa & 3§ F & A B

31. ¢ 1T #

A. & 3 4

B. U% 3N §

C. tw 3R Sh

D. afr 3 &

32, HleT F & a9 TH gEY F A g 87
A. B 3l @

B. U 3 S

C. tw 3R &

D. 3t 3 &

33, Flar 32 F fRaw F vw (Rl o) @ § R & &7
A 4

B. V20

C. 5

D. V26

24, v [AfFad #1871, ROUTINE @ VMRGFLI & &9 & fwr sirar 31 38 @13 #ST # CRUELTY &d
fersar s

A. VOCVZRL

B. VPCVZRL

C. BGOVFIX

D. WPCVZRL

35, ADVERTISE 2rez # ey o2 e &, et @ vede o & g 3aa @ 3R 2 Saa A
3N adarer 7 e & @ £?
A, @IE T

=R
o,
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36. '1'is subtracted from each odd digit and '1'is added to each even digit in the number 5249836. Which
of the following will be the difference between the third digit from the left and the third digit from
the right of the new number thus formed?

A 4
B:. 5
C. 3
D. 2

37. Consider the following statements regarding 'Earth Hour": 1. It is an initiative of UNEP and UNESCO;
2. It is a movement in which the participants switch off the lights for one hour on a certain day every
year; 3. It is a movement to raise the awareness about the climate change and the need to save the
planet. Which of the statements given above is/are correct?

A. 1and3only

B. 2only
C. 2and3only
D. 1,2and 3

38. With reference to 'Global Environment Facility’, which of the following statements is/are correct?
A. It serves as financial mechanism for 'Convention on Biological Diversity’ and 'United
Nations Framework Convention on Climate Change'
B. It undertakes scientific research on environmental issues at global level
It is an agency under OECD to facilitate the transfer of technology and funds to
underdeveloped countries with specific aim to protect their environment
D. BothAandB
39. With reference to 'Eco-Sensitive Zones', which of the following statements is/are correct: 1. Eco-
Sensitive Zones are the areas that are declared under the Wildlife (Protection) Act, 1972; 2. The
purpose of the declaration of Eco-Sensitive Zones is to prohibit all kinds of human activities in those
zones except agriculture. Select the correct answer using the code given below:
A. 1only
B. Zonly
C. Bothland2
D. Neither 1 nor 2
40. 'Bio Carbon Fund Initiative for Sustainable Forest Landscapes' is managed by the
A. Asian Development 3ank
B. International Monetary Fund
C. United Nations Environment Programme
D. World Bank

14
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36. HEAT 5249836 # '1'ucd® fASH 3 & geryr Sidr € AW ' 9cdd GH e H A o Srar
¥ Ffaiaa F @ #ta wr ) wE F aw F Hey 3w 1K g @ R dw & ST e g ?
A 4
B. 5
C. 3
D. 2

37.'qeelt &7 AT F A A i et s EER w1 g quesd AR g @ oved §; 2.
g U s ¢ Brad afdenfaat O gt gre v AT R W v ue & Qv Quel "9 A g
3. 9g Sedry aRade 3R UE B qaer @ Imaedddr 3 g F SRl sgl & [T U e g
U AT A G A O/ Sl | e 67

A. 1 3 3 Fad

B. 2 Fad

C. 2 3R 3 Fad

D. 1,2 3T 3

38. 'dfRaH mﬁmgﬁm‘*ﬁﬁﬁ,ﬁmﬁﬁﬁﬁﬂﬂﬂmwﬂﬁﬁ?

A. Tg ‘3w Aafvar w e AR Sedry aRadd W EgFd Usg s dedeel’ & o @
a7 & &g I @ e g

B. wE dftad T 9 watareiy Aegl wodsfAe Aqaure e §

C. Ag OECD & dgd U&F Uordl § 3 3rvey gafayor &7 & & fav faftse 3agw & g sifasfaa
elt & steafrer 3 wer geaicror Fr giawr gerd H )

D. A 3¢ B &=t

30, ‘g SR & Het , Femtatad # @ @ a1 duw @ & 1 oRfefd-wdEee 87
qeafia (deeron) 0@, 1972 & aga DA e 7o & § 2. Jarator-aagaier &1E1 $ o
T R FN F OlgH 37 91 &F gl ysR i Awe oAt @ uidEtta & ) e R o
HNZ FH ITAET &L HEl Al @l 9l S

A. 1 thad

B. 2 dvdel

1 3R 2 a=r

), aar1 a2

E"':

40, ‘T g afeedt & v S w1 G ggd’ & gaue fhar Sirdar §
A. vl e d%

B. 3iciedrr Har

C. WgFcl USE THEalvT H-HH

D. d¢s d&
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Chemical/Civil/Environmental Engineering
PART -2
Section A
Multiple Choice Questions (40 marks)
(Every correct answer: | mark, wrong answer: -0.25 marks, not attempted: 0 marks)

41. The discharge through V-notch is proportional to:

A “5-’}‘.
B. H¥
C. H?

D. HIQ

42. The head loss in turbulent flow in pipe
A. Varies approximately as the square of the velocity
B. Varies inversely as the square of the velocity
C. Varies inversely as the diameter of the pipe
T D. Varies inversely as the velocity
43. Which of the following is used for the measurement of discharge:
A. Pitot tube
! ' B. Venturi-meter
| C. Current-meter
D. None of the above -
44. For a given specific energy 'E' the critical depth 'y’ for a rectangular channel section is equal to:
2
A JE
B. =E
C. -E

D. SE
45. Electrostatic precipitators iemove
& A. Particulate matter
B. Sulphur dioxide
C. Hydrogen sulphide

.
[ SR =X N

D. Nitric oxide.
46. When Environmental Lapse Rate (ELR) is more than Adiabatic Lapse Rate (ALR), then the
environment is said to be
! A. Stable
| B. Unstable
C. Neutral
0. None of the above.
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e/ fafRe / guteRer ganfaaie
HIT 2

EGEICIE a‘gﬁﬁﬁﬁ‘;ﬁeﬂ (40 37%)
(Ul TE 3T 1 37, el 3aT -0.25 3ieh, STE A8 AT A 0 37)

41. V-notch & ATEas A fdaet TeToTferes &
" .. A. H™
B. B*%#
‘C. WP
D. H”
42.q13crﬁmr‘ra;rargﬁ3§ oy
A. FETHAT 39T & 91 & §9 H deeldl &
B. 391 % o7 & 9 & Al &9 & S
C. ued & sard & &9 F Aqdia s g seadr g
D. o1& &9 # [qulid ¥ 8§ agdr &
43. fordeet & #19 & Tare s faf@d & @ sl ar s fFar s g:
A fRe cE
B. dgli Arex
C. @e Hiex
D. &3 ¥ IS off e
-I44.%ﬁrmmﬁﬁrﬂa3ﬂ??$ﬁvwwﬂaﬁm$ﬁvﬁ?ﬁw RS 'ye' BN
A ZE

3

B. EE

C. zE
D. EF
45. saagred s afadReT geraT §
" A. iUt ded
B. HeW SIS3iTaaTSS
C. BIE20 Hehiss
D. aAfw JFarss)
46, St TeTATIRAFEH o a¥ (ELR) ufeardfee oew ax (ALR) & 310 &, Y waiator gl ST &
A. e
B. e
C. de¥d
D

. SAR A RS ot AT


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

47. Match List-1 equipment with List 11 Pollutants
List 1 | “List 11 " s
B ; . - " 1. Coarse particles
a. Electrostatic Precipitators ] SRIRR RS
. i _ : v
. Fine dust r
b. Cyclones 2 el
- 3. Gas
; c. Wet scrubbers G
). Sulphur dioxide =
4 Adiaiber 4. Sulphur dioxide ‘

A. a-1,b-2,¢-3,d-4

B.

E D.

A.
B.
" C.
D.

A.
B.
C.
D.

a-2, b-1, c-3, d-4 ,
C. a-2.b-1,c-4,d-3 R T

a-1, b-2, c-4, d-3

48. The distribution system in water supplies is designed on the basis of

Average daily demand
Peak hourly demand
Coincident draft

Greater of b. and c.

49. A ranney well, largely used for tapping ground water for public supplies, receives ground water from

Its boitom
Its vertical permeable sides
Radial horizontal collectors

None of the above

50. The velocity of flow in a sedimentation tank is generally kept at

0.3 m/sec
0.3 m/minute
0.3 m/hour

0.3 m/day

. 51. Which of the following processes of soft:ning water may require re-carbonation:

A.

Lime-soda process
Hydrogen /Sodium cation exchange process
Demineralization process

Reverse osmosis process
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.
"4, g -1 3YRIOT BT A 11 TGy & W Al HRA|
o goERRm R lLsesw | | | .
b, awa o m& ) |
PR S EX. S _
d. i _ 4.2_4_?%3:33{“_1?&133 B

A a-1,b-2,c-3,d-4
B. a-2,b-1,c-3,d4
C. a2, b-1,c-4,d-3
1 D. a-1,b-2,¢c-4,d-3
48, a1t Y 3aft 3 faeor gomel & MR o} s fhan R e
A. 3iad Sfeien ATeT
B. wfa der & iftehas #fer
C. #igflse give
D. b 3T ¢ Fr HfOFar |
, .49‘mﬁmmﬁﬁﬁvmﬁmmﬁhmﬁmﬂﬁﬁﬁmmmmw&m@ﬁ a
s T aReT &
A UR @
B. @& FLaTtR URIFg @gsd o
-C. fzua &fas gags
D. a8 A H1S ofr AT

“50. U Ao &d # valg &1 a1 3 Ji 9T Wl St g

A. 0.3 m/sec

B. 0.3 m/minute
C. 0.3 m/hour
D. 0.3 m/day

‘51».mﬁmmﬁﬁmﬁﬁamﬁﬁﬁmmﬂwmm$ﬁvﬁm—r?r%:
A, wrga-asT f

 B. gTgaNslel / WfETH dherde iy wfshan

- C. iR ufkar

D. fae straaAfaa wisar
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52. In water supply, a Jar test is performed (i) to obtain the optimal dose of coagulant to be used in coag\ tion
process; (ii) to find out the optimal time required for flocculation; (iii) to find the chlorine content of water. The
correct statements are:

A. Only (1)
B. Only (ii)
C. (i)and (i)
D. (1) and (i)

" 53, EDTA (Ethylene diamine tetra acetic acid) solution is used to determine
A. Dissolved oxygen in water
B. Residual chlorine in water
C. Hardness in water
D. Optimal dose of coagulant.

54. The most common cause of acidity in water is

A. Carbon dioxide
B. Organic acids
C. Mineral acids
D. Oxides of Nitrogen or sulphur .

55. A rectangular sedimentation tank aaving dimensions 20 m long, 5 m wide and 3 m deep, passes 3 million liters

of water per day. The detention period of the tank would be ' .
A. 2.6 hours
B. 3 hours
C. 2.4 hours
D. 2.1 hours
56. A raw water supply of 12 x 10° liters /d1y to be disinfected with a chlorine dose of 1 mg/l. The quantity of

bleaching power containing 30% available chlorine, required for disinfection per year would be (in kg)

A. 15600
B. 14600
C. 14200
. 15100

57. While designing sewers, the flow velocity at full design depth is generally kept at about
A. 1.0 m/sec
B. 0.5 m/sec
C. 1.5 m/sec
2. Lessthan 0.3 m/sec
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s R, ST T ) e SR A SR R Sy a1 ARt A el g S R e e
ST &; (ii) Fellereer & fow T Tt T AT T ST & T (i) arelY 3 el e ArAT Y Wil o fore | ey s

. had (i)

. hdd (i)

. (i) 3 (i)

(i) 311 (i)

3. EDTA (uf¥reiet sraefter 2er efaifess vids) degaia &1 I T ST &

. Tt 3 3iTereiate hr ATET |

. areht & raferse FAle : .
. aref 3 o

. V[ele FafeH AT |

54, T 3 3FTAT T T HTH HROT §

oo ®m p

vy

U’h‘m b=

A. e SISIHTHRITES
B amiffo o
c. @fasrefas
D. TSIl a1 Hewd & HFHISS o
55 T AT erese Yo TrEs s 20 #e wia, 5 Hew =itg 3 3 #iie g Qe &, 9 o 3 Al dex aefr o
" wear gl & fr Béue yafe gl
..'A. 2.6 ©C
B 3Ee
C. 249 : | -
,:ED'. 2.1 €T -
56.1mg/1 T e ieT I F A/ 12 * 106 e / foet 0 3repecer Srer 3iTfel ePrerop el fava Sire & | ey o drervpRit &
' ‘mmawzo%mmagwamﬁwﬁﬂm(ﬁwﬁ)m ‘
. 15600

A

~ B. 14600 i

"I C. 14200
D

. 15100

57 Faa Y Rstreer Hea @, qof fRsmget ITUE U¥ FaTg Q9T HIHCAR I ST T@1 S &
vow A. 1.0 m/sec
B. 0.5 m/sec
C. 1.5m/fsec
D). Less than 0.3 m/sec.
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'58. As compared to slow sand filters, rapid sand filters give (i) slower filtration rate; (ii) higher filtration rate; fo ':
(iii) lesser efficiency in removal of bacteria; (iv) higher efficiency in removal of bacteria. Of the above
statements, the correct statements are

A. (1) and (iii)
B. (i) and (i11)
g C. (1) and (iv)
o D. (ii) and (iv)

59. A polluted stream undergoes self purification in four zones: (i) zone of degradation; (ii) zone of recovery;
(iii) zone of active decomposition; (iv) zone of clean water. The correct sequence of these zones is:
. A. (1), (1i1), (ii) and (1v) '
B. (iii), (i), (ii) and (iv)
C. (iii), (i), (iv) and (ii)
D. (i), (iii), (iv) and (ii)
60. A given sludge with 99% moisture is ¢ x* times more bulky than with 98% moisture where X7 is:
. a. 99/98 /
» P b. 2 . .
' c. 1+98/99 ' -
d. 1+99/98
61. Match List — I (Impurities to be removed from sewage) with List — II (Treatment unit used) ,
o [List | [ uistm ' |

1. Trickling filter

"~

a. Large Floating matter

n A : 2. imary clarific
Suspended inorganic matter ke clanhier

b.

s - 3. Grit chamber S
¢. Suspended organic matter 3. Grit chamt

T e \ W e " 4. Screens ' =
d. Dissolved organic matter Screens

A. a-4,b-3, c-2,d-1
B. a-4,b-2,¢-1,d-3
C. a4, b-1,¢-2,d-3
D. a-4,b-2,¢-3,d-1
62. Consider the following data for the design of the grit chamber of a sewage treatment plant: (i) Flow through
horizontal velocity of particles = 0.25 m/sec; (ii) Detention time = 1 minute; (iii) Settling veldcity of
particles = 0.20 m/s. Based on this data, the length of the chamber is:

. A. 5m
: B. I5m
C. 25m
D, 50m
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Google Play

. IISB.WiﬁﬁﬁRTiﬁrgﬂmﬂ,Hmm(i)wﬁ?ﬁaﬁﬂaﬁt’f;(ii)mmﬂ;(iii)aﬁﬁmﬁmﬁﬂmm;
(iv) AR Y gere 9 T gaTar| SUNEd qae A, HE a

A. (i) 3 (iii)
: B. (ii) 3T (iii)
' . () 3R (iv)
D. (i) 3R (iv)

{50, e gl T AT 81 7 et QR & aporeel 3 () FRardere a6 8 (i) Rl a6 B (i) WP SrEEA I &, ()

s e &1 81| g Sl 1 HE TR B
WAL (), (i), (i) 3R (iv)
B. (iii), (i), (i) 3 (iv)
UCL (i), (0), Giv) AR (i)
D (D, (iii), (iv) 3T (i)

., 60, 08% w701 3 T 99% HY & HI ek & 1§ rrs ' [T HTEH HI & el ' B

- A.99/98
: B2

Gl +98/99
; ;D.f +99/98

61, ey T 1( Wt & TR SreY arely Jrepefen ar g - 11 (e 3R grs) § e U

Ul

"H?—ﬂ 11

e. &% FeNfEar qary

5. feaferr fheer

f  HEUSE Hehrafae gard

6. WTSHY ol AR

7. Tae a1

h, faufed A gary

8. ®hie

'A.a-4,b-3,c-2,d-]
B. a4, b-2.c-1,d-3
. C.a4,b-1,c2,d-3
D.a-4,b-2,c-3,d-]

' 6. W1AST 3TA GIT ¥ e e F fBaser & v Prfaf@a o w faR st (i) T 1 SIS A1 = 0.25 FeX / FF3; (i)
© ¥ T IEY = | AR (i) Sl & aefer der = 0.20 Hiex/ ww | 53 3T & T 4T, HaT Y Fa1s 8

. A5 HIeT
B. 15 #Hrey
C.25HX
D. 50 #rex
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63. For domestic sewage, the ratio of 5 day BODat 20°C 1o ultimate BOD is about o .
: A 13 B
B. 2/3 '
C. 3/4
D. 4/5 )

r

64. BOD is preferred to COD because
A. BOD represents both carbonaceous and nitrogenous organic matter while COD may indicate
carbonaceous matter only
B. BOD lest is easier to perform and gives more reliable results i "
K _ C. BOD relates specifically to putrescible organic matter
_ D. COD relates to the impurities which can only be removed by chemical treatment
65. A 1% solution of a sewage sample is incubated for 5 days at 20°C. The depletion of oxygen was found

to be 2ppm. BOD 5 days at 20°C of sewage is

A A. 200 ppm }
L B. 20 ppm

C. 500 ppm

D. 50 ppm

: 66. For oxidation ponds, (i) detention time i+ usually 2 to 6 weeks; (ii) organic loading is generally more
| than 1000 kg/hectare/day; (iii) BOD removal is upto 90%; (iv) coliform removal is upto 99%: Of the
above statements, the correct statements are: |
' A. (i) and (iii)
3. (ii) and (iv) -
C. (i), (iii) and (iv)

. All four are correct

-
p—

67. Join List | (Terms) and List IT (Processes) o

List I “List II

a. MLSS

G o 2. Secondary setting tank
b. Settling of biomass ’ & ;

iF : 7. Trickling filter
¢. Removal of solids &

R e R e
d. Reeycling of effluent 4. Activated sludge process
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63 B elrarer  fare, 5 e BOD 20 3y fewrer & 3iferst diaie) ahr Hegeret ororsiar & ;¢ r il
jA.liﬁ - &)
B 23

C. 3/

D. 4/5 I R

: 64, D Y TG A AR & e ¥ i
A, mmammmmwmmﬁmwémﬂ%m%mmmmmwﬁ
: wnﬂmaw%
B. ar3NEr qdieror seeler sta e & 3 30 Rreawsta o 2are
. o PR w2 T e e e & Fore wifirer &
D. w3 sreafort & wafla & S dherer TaTAfA SR GER FETAT S GHA &
6s.maﬂﬂﬁ|%mﬂﬁmzo%mﬂﬁmqﬁﬁﬂﬁﬁﬁwmmﬁlMﬁmﬁrzppmwwm
st & 20 TRaft Afcwaw ot s e v e &
A, 200 e
B, 20 didrew
C. 500 drdros
| - D.50 drdieA
'._"66.m‘mﬁwwmma*ra:ﬁtr,(i)%ﬂamﬂmmﬂ‘hwzmmm&(ii)mﬁﬁmmﬁwmﬁwmoé
et/ dFet / Rt @ 3ifeve @Yl & (i) 13T 00% ook e @Yl §; (iv) DITABIA 99% e A1l &1 SR
- a #,  a E |
' A (i) 31 (i)
‘B, (i) R (iv)
C. (i), (iii) 3R (iv)
. D, AR EH @

67, F 1 (fvaen 3 g 11 (et #r fAers &3

T g
e. MLSS - - }wﬁﬂ?ﬂiéal s
f. arayATry $r et 2 ATEATHE Qe &
. o verel &Y gerer 5 fefaer et
h _uzng & TeT el | 6. a0 e
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A. a2, b4, c-1,d-3
B. a-3,b-2,c-1,d-4 ; '
C. a2,b-1,c-3,d-4 : |
D. ad,b2,c1,d3 g

6%. Leachate is a coloured liquid that zomes out of

£

A. Septic tanks
B. Imhoff tanks
C. Sanitary landfills
D. Aerated lagoons
69. A filter of size 10 m x 8 m is filtering 12 million licers of water in 24 hours period. The filter is
backwashed at a rate of 700 liter per min per m’for 12 minutes. The filtration rate in m*/m?/day and %
; of treated water used in back washing is ziven by
s A. 150,2.8
B. 125,28
C. 125,56
D. 150,5.6 \
70. The sludge drying bed area of about............ is required for 210 m'/d digested sludge of se»'vage ,
treatment plant digester. The dewatering cycle may be taken as 10 days and average depth of sludge :
application is 0.3 m. "
A. 630m’
B. 6300 m’
‘ C. 700 m’
I D. 7000 m’
“71. In facultative stabilization pond, the sewag: is treated by
A. Aecrobic bacteria only
B. Algae only
C. Dual action of aerobic bacteria and anaerobic bacteria
: D. Sedimentation
"¢ 72, The maximum efficiency of BOD removal is achieved in
A. Oxidation pond
B. Oxidation ditch
C. Aerated lagoons
D. Trickling filters
/3. Select the secondary air poilutants among the following
A. Ozone and carbon monoxide
B. Peroxy-acyl-nitrate (PAN) and ozone
C. Peroxy-acyl-nitrate (PAN) and carbon monoxide

D. Carbon monoxide and sulphur dioxide
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A. a2, b-4,c-1,d-3

B. a3 b2 c¢1,d4 . i
C. a2, b-1,c3,d-4 ; R R
D. a4, b-2,c-1,d-3

* 68, de ueh T e & S AR AT ©
A A
B. Imhoff &®
 C. T@eodl dsfha : ¥
; GQ.WIOIﬁﬂTxSlﬁﬁfﬁrwfﬁ?ﬁt‘{md‘&”ﬁ&ﬁﬁﬁlzﬁﬁﬂﬂaﬁﬁmﬁﬁﬁﬁmﬂm?lmlzﬁ!ﬁﬂ? .
. Far Ry e 700 e sifey fRere 1 o A ey fe 7 1 m'in?/day 31 Fredast & 3 AT e 3 3w e |
. ey ey fiedie ek el v R e & L 1
S A150,2.8 Sy
B.125,28
C. 125,56
D. 150,56
70, Bast ede veie sraeE & 210 m'/d agwﬂmﬁmﬁrmaa;ﬁmﬁa:ﬁmm ............ REEIEICLLCTIN
-#lsﬁawﬁﬂaaﬂnﬁa‘ia:mﬁﬁmmm%mm wearer W 3irEe TES 0.3 W'
A. 630 m?
B. 6300m’
L .ic.,700m?
" D. 7000m
21 i FEToT dreiTe #, €St & Seist Al STl ¢
A. Fad vdfas dEdia
' .B. ¥aw dard
.“*"C.mﬁﬂ?aﬁﬁmmmﬂﬁﬁﬁﬁﬁmﬁmm
D, ¥
, 72, Y3 T Y AR SR gridrel Y STl &
LA TEREERTOT dTelTE
'_“B.' JierEieRToT WS
C. WS o7
D, Rafaier freet
: .I73.ﬁmﬁfaﬁa?ammmﬁmmgquwmaﬁ
v A, 3itsieT 3R e FATEETSS
| B Qo). wEiTe-aTEe (PAN) 3 3T
C. RrFE-THeaEee PAN) 3 & HiATHTFAISS
D. srder A 3TEFaTss R Hohl SEAHTFIES


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417
.“ : | ooePIay :'

74. If present in waler, chlorination of water does not reduce the

A. Ammonia content

o
: B. Organic matter content }
C. B.OD.
v D. Dissolved oxygen content X ’
b 75. The following reactions take place during anaerobic digestion of organics: 1. Methane production; 2. ‘ :
g . Alkaline fermentation; 3. Acid fermentation; 4. Acid regression. The correct sequence of these reactions .
15 ‘ ) |
- A. 3,4,2,1 : ¢
B. 4,3,2,1 s
C. 3,4,1,2
D 4.3 1%
"~ 76. Coal based thermal power stations pollute 1he atmosphere by adding _
O A. NO.and SO g
B. NOy, SO,and SPM :
C. NO, 8O3, SPM and CO
D. NO,, SPMand CO
77. One litre of sewage, when allowed to settle for 30 minutes gives a sludge volume of 27 ecm’. If the dry
. weight of this sludge is 3.0 grams, then its sludge volume index will be l
LI A 9
b B. 24
C. 30
D. 81
‘ 78. Which of the following air pollutants is/are responsible for photochemical smog: 1. Oxides of nitrogen:.
& 2. Ozone; 3. Unburnt hydrocarbons; 4. Carbon monoxide. Select the correct answer using lhc codes -
given below:
A. 1 alone g & i
B. 2,3and 4
C. 1,3and 4
) D. land3
79. Aerosol is
A. Carbon particles of microscopic size
B. Dispersion of small solid or liquid particles in gaseous media
C. Finely divided particles of ash
D. Diffused liquid particles
i %
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80. Match List ] (Methods of solid wastes disposal) with List 1 (Terms pertaining to the methods) and select ; .
the correct answer using the codes given below the Lists: _ ' S
List 1 List 11 |

a. Incineration Requires presormig, grmdmg, and lummg

b. Sanitary landfill

Limited to special wastes and selected materials

c. Composting

High operational and maintenance cost

Tractor

[ d. Salvage by sorting

lwn| & vy o —|

Rat and fly breeding _ ) :

A. a-2,b-5,¢-4,d-3 . R e oy
B. a-1,b-4,¢-2,d-3 '.‘ k.
C. a-3,b-4,c-1,d-2

a-3, b-5, c-4, d-2

......... RAATATH 3
80.{@1(mmﬁmmﬁaﬂ%ﬂﬁll(ﬁﬁmﬁmmﬁ)%wm@%;ﬁmm - \
SIE ol FONIT ek TET I HI T B
' | a1 vl E
| o setiaor T e A B |
b.Faree de el pre—————— S B
| caafeer 3 3o qferelet 3R TERETd AT
d.ﬁn@rnm 4.3F _ |
B 5.5 31 FolTS Sofetet |

A. a-2,b-5 c-4,d-3
a-1, b-4, ¢c-2, d-3
C. a3, b-d c-1,d-2
D. a-3,b-5 ¢4, d-2

w
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Section B: 12 marks (Each question carries 4 marks)
3TTHTIT ofY: 12 3eF (Yeddh U 4 3h)

_ What are the main causes of noise pollutioa in industrial environment? How it is measured? Also list
some control measures.

3 81 Mﬁmwﬁmﬁwh{wkwraxmwwwibmﬁﬁwmﬁmﬁmwmﬁ
' ofr Feiager i : v

82. Briefly explain (with appropriate example/case study/sketches) the in-plant control measures takc:n in
any air polluting industry to reduce air pollution.

svmmaﬁmmﬁ%ﬁm%aﬁmwﬁamﬁwﬁmmmm
Fr WeT F @HET (3R I / FH TS/ ThA & H) |

3l
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' _‘ "' 83.Briefly explain at least one situation each where (i) HPLC (ii) ICP (iii) GC and (iv) Flame phutomctlcr,

are used in environmental monitoring, Also indicate the pollution parameters which can be monitored

with respective concentration ranges by these techniques, in each of the cases.

. f‘83.#&ﬁﬁmﬂwwﬁtﬂﬁéﬁrmﬁaﬂ(i)HCL(ii)ICP(iii)GC&#\T(iv)'Eﬁ‘Iﬁrqﬂa?ﬁET, P
R mmwﬁuﬂﬁﬁﬁmwmm%!mmmaﬁaﬁgﬁmﬁﬁmwgﬂmaﬂm T

e FTHe  Heftd FEeeE Io1 & Ary IR B S el €
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Section C: (8 marks) 37T : (8 3ih)

84. Explain the use of mass balance and energy balance for any one of the following
(1) Development of effluent/emission standards
(i1) Minimization of pollution.

84, FeaATATaa 31 3 el wa & FANC STt dferet 3R il Hefelet o SOAaT oY sarear
(i) WefSe / 3cHsie Hielwhi I fahrd
(i) ENOT &l H H 1|
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